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Step 1 : Outlier Rejection

itOAll

£105:_

Entries 1186686

Mean

Std Dev

11.77

32.98

10k

103k

102 3

-200 -100 0 100

200

it0zTPCzVPD

Entries 1186686

Mean x

Meany

Std Devx  25.96

StdDevy 35.75

3.03 )C

-7.668

Step 1: TPC vs. VPD z Vertex using <East> & <West>

it0avg
3+
Sl Entries 148434
1 04 Mean 9.548
C Std Dev 25.55
X2/ ndf 4647 1 37

Constant 1.119e+04 + 4.142e+01
Mean 8.797 + 0.055

Sigma 19.72+ 0.05

10°E

102k

-100 -50 0 50 100
y4

TPC ~ ZvPD [cm]

Step 1: TPC vs. VPD z Vertex using <East> & <West>

it0zTPCzVPDAVvg

Entries 148434 ‘
Mean x 1.658
Meany -7.719
Std Devx  27.42

Std Devy  33.45




[#]

[#]

10°

10%

Step 1 : # of Accepted Detectors

3 — East itOnAcceptedEast
- — West
=3 Entries1216123
il BN B i ' B B R B BT R R AR B
0 2 4 8 10 12 14 16 18

# of Detectors

Step 1 : # of Valid Pairs

itOnValidPairs

Entries1216123

~30 40

.50. :

ﬂﬂ_‘ [ 110
60 70

# of Pairs




mxg-tdc [ns]

mxg-tdc [ns]

mxg-tdc [ns]

mxg-tdc [ns]

Step 2 : Channel 7 mxg-tdc vs mxg-adc

mxg-adc

Step 2 : Channel 12 mxg-tdc vs mxg-adc

5,
S5

Step 2 : Channel 21 mxg-tdc vs mxg-adc

5,

0
mxg-adc

Step 2 : Channel 26 mxg-tdc vs mxq-adc
5

mxg-adc

mxg-tdc [ns]

mxg-tdc [ns]

mxg-tdc [ns]

mxg-tdc [ns]

mxg-tdc [ns]

Step 2 : Channel 3 mxq-tdc vs mxg-adc

5¢ 2
4 0
3 i
2 L6
ha
o 12
L0

"

102 0

mxg-adc

Step 2 : Channel 8 mxg-tdc vs mxg-adc

mxg-adc

Step 2 : Channel 14 mxg-tdc vs mxg-adc

Step 2 : Channel 22 mxg-tdc vs mxg-adc

0
mxg-adc

Step 2 : Channel 27 mxg-tdc vs mxg-adc

0
mxg-adc

mxg-tdc [ns]

mxg-tdc [ns]

mxg-tdc [ns]

mxg-tdc [ns]

mxg-tdc [ns]

Step 2 : Channel 4 mxg-tdc vs mxg-adc

3

Step 2 : Channel 10 mxg-tdc vs mxg-adc

0
mxg-adc

mxg-adc

Step 2 : Channel 15 mxg-tdc vs mxg-adc

()
mxg-adc

Step 2 : Channel 29 mxg-tdc vs mxg-adc

3

0
mxg-adc

mxg-tdc [ns]

Step 2 : Channel 6 mxg-tdc vs mxg-adc

mxg-tdc [ns]

mxg-tdc [ns]

mxg-tdc [ns]

mxg-tdc [ns]

0
mxg-adc

Step 2 : Channel 11 mxg-tdc vs mxqg-adc

mxg-adc

Step 2 : Channel 16 mxg-tdc vs mxg-adc

5
5,

N W D

0
mxg-adc

Step 2 : Channel 25 mxg-tdc vs mxq-adc

0
mxg-adc

Step 2 : Channel 30 mxg-tdc vs mxq-adc

0
mxg-adc



Step 2 : Outlier Rejection
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Step 5 : Outlier Rejection

it4All

Entries 1187264

Mean 2.179

Std Dev 25.61

10%

10°

102

100 200

-200 -100 0

Step 5: TPC vs. VPD z Vertex

it4zTPCzVPD
[a) . b(
o Entries 1187264
>
N Mean x 2.699
Meany 1.477 }C
Std Devx  25.94
Std Devy  30.62 C
=110C

!SOC

Step 5: TPC vs. VPD z Vertex using <East> & <West>

itdavg
3+

[haal B Entries 148501
i Mean 0.2639
Std Dev 9.765
X2 I ndf 465217
104 Constant 2.429e+04 + 9.008e+01
Mean —0.01371+ 0.02554
Sigma 8.557 + 0.024

10°

1 1 I 1 1 1 I 1 1 1 I 1 1
z TPC ZVP D [C m]

Step 5: TPC vs. VPD z Vertex using <East> & <West>

it4zTPCzVPDAvg

| Entries 148501

Mean x 1.295 P(
Meany -0.08292
Std Devx  27.36

Std Devy 30.98 (

=116(

14(




[#]

[#]

10%

10°

Step 5 : # of Accepted Detectors

5— — East it4AnAcceptedEast
- — West

E Entries1216123
E_I..I...I..I...I...I...I..I...I...I..

0) 2 4 6 8 10 12 14 16 18

Step 5 : # of Valid Pairs

# of Detectors

it4nValidPairs

Entries1216123

20

50

!T|J._Ll|'1|'|...1_
60

# of Pairs




mxg-tdc [ns]

mxg-tdc [ns]

mxg-tdc [ns]

mxg-tdc [ns]

Step 6 : Channel 7 mxg-tdc vs mxg-adc

mxg-adc

Step 6 : Channel 12 mxg-tdc vs mxg-adc

5,
S5

N W D

0
mxg-adc

Step 6 : Channel 21 mxg-tdc vs mxg-adc

5
4 o
3
oc

2
o

0|
- 0C

-2
-3 oc

0
mxg-adc

Step 6 : Channel 26 mxg-tdc vs mxq-adc

5

N WD

3
0
mxg-adc

mxg-tdc [ns]

mxg-tdc [ns]

mxg-tdc [ns]

mxg-tdc [ns]

mxg-tdc [ns]

Step 6 : Channel 3 mxq-tdc vs mxg-adc

L
3

0
mxg-adc

Step 6 : Channel 8 mxg-tdc vs mxg-adc

mxg-adc

Step 6 : Channel 14 mxg-tdc vs mxg-adc

Step 6 : Channel 22 mxg-tdc vs mxg-adc

0
mxg-adc

Step 6 : Channel 27 mxg-tdc vs mxg-adc

3
0
mxg-adc

mxg-tdc [ns]

mxg-tdc [ns]

mxg-tdc [ns]

mxg-tdc [ns]

mxg-tdc [ns]

Step 6 : Channel 4 mxg-tdc vs mxg-adc

i
3

0
mxg-adc

Step 6 : Channel 10 mxg-tdc vs mxg-adc

mxg-adc

Step 6 : Channel 15 mxg-tdc vs mxg-adc

Step 6 : Channel 23 mxg-tdc vs mxg-adc

5

()
mxg-adc

Step 6 : Channel 29 mxg-tdc vs mxg-adc
5

3

0
mxg-adc

mxg-tdc [ns]

Step 6 : Channel 6 mxg-tdc vs mxg-adc

mxg-tdc [ns]

mxg-tdc [ns]

mxg-tdc [ns]

mxg-tdc [ns]

0
mxg-adc

Step 6 : Channel 11 mxg-tdc vs mxqg-adc

Step 6 : Channel 16 mxg-tdc vs mxg-adc

5
5,

N W D

0
mxg-adc

Step 6 : Channel 25 mxg-tdc vs mxq-adc

0
mxg-adc

Step 6 : Channel 30 mxg-tdc vs mxq-adc

3
0
mxg-adc




10%

10°

102

Step 6 : Outlier Rejection

itSAIl

Entries 1187264

Mean 217

Std Dev 25.61

100 200

-200 -100 0

Step 6 : TPC vs. VPD z Vertex

it52TPCzVPD
Entries 1187264 pC
Mean x 2.698
Mean y 1.485 J(
Std Devx  25.94
Std Devy 30.63 C
=110C

!SOC

Step 6 : TPC vs. VPD z Vertex using <East> & <West>

[#]

10%

10°

ithavg

Entries
Mean
Std Dev

X2/ ndf

148501

0.256

9.766

466 /7

Constant 2.429e+04 + 9.009e+01

Mean -0.02078 + 0.02554
Sigma 8.556 + 0.024
L L I L L L I L L I L L
—20 0 20
Z1pe = Zypp [CM]

Step 6 : TPC vs. VPD z Vertex using <East> & <West>

| Entries

Mean x

it5zTPCzVPDAvg
148501
1.296 P(

Meany -0.07853

(

Std Devx  27.35
StdDevy 30.98 PC
=116(
14(




[#]

[#]

10%

10°

Step 6 : # of Accepted Detectors

5_ — East itSnAcceptedEast
- — West
E Entries1216123
E_I..I...I..I...I...I...I..I...I...I..
0 2 4 6 8 10 12 14 16 18

# of Detectors

Step 6 : # of Valid Pairs

it5nValidPairs

Entries1216123

2

20

50

0., .1
60
# of Pairs




Detector # 0 Resolution Fit

o 0.1
% 0 =0.000000 [ns]
E 2
= Xx“/DOF = 0.000000
0.05p
0
-0.05p
_0_1-
-0.15p
-0.2 | I I
2 4 6 8 10 12 14 16 18
# of Detectors
Detector # 3 Resolution Fit
& X2 I ndf
£ o= o.&noz [ns]
g po 0.2971+ 0.0042
= X2/DOF = 2.790049
2-
1.5
1-
[O)
0.5
[ 3
osOO¢
| I N

11.16/4

2 4 6 8 10 12 14 16 18

# of Detectors

Detector # 1 Resolution Fit

Time [ns]

0.05}

o =0.000000 [ns]

X2/DOF = 0.000000

-0.05

-0.]

-0.15

2 4 6 8 10 12 14 16 18

# of Detectors

Detector # 4 Resolution Fit

Time [ns]

0.05

o =0.000000 [ns]

X2/DOF = 0.000000

—0.05]

-0.1

-0.15

2 4 6 8 10 12 14 16 18

# of Detectors

Detector # 2 Resolution Fit

= X2 / ndf 3.243/4
£ 0 =0.287326 [ns]
g po 0.2873 + 0.0039
— 2 -
= ok X“/DOF = 0.810732
0.6
0.4
e—
0.2
ok
ooO
ool 1@l 1yl la syl
2 4 6 8 10 12 14 16 18
# of Detectors
Detector # 5 Resolution Fit
—_ X2/ ndf 19.15/4
2
> 0.6fF 0 =0.263483 [ns] ;
£ P 0.2635 + 0.0033
i X%DQf = 4.786370
0.5
0.4
0.3
@ B
0.2
0.1
(@]
ok
OOO(:D
-0.1=
ootlalaba by bslalylsl

2 4 6 8 10 12 14 16 18

# of Detectors




Time [ns]

Detector # 6 Resolution Fit Detector # 7 Resolution Fit Detector # 8 Resolution Fit

Time [ns]

X2/ ndf 742714 & X2/ ndf 18.34/4 & 0.1
O0.5F 5 =0.252616 [ns] S 1k o5=0.268882 [ns] = = 0.000000 [ns]
PO 0.2526 + 0.0029 “E" po 0.2689 + 0.0029 g
X2/DOF = 1.856730 [ X2/DOF = 4.584091 = X2/DOF = 0.000000
[ J
0.4 0.05p
0.8
0.3 0
—— 0.6}
0.2
()
04k —-0.05
off [fosd]
L g
0.2k -0.1-
0pO0O
(JPO
o0 -0.15p
-0.3}- PO (:)
_O'ZI.I.I.I.I.I.I.I.I _olzl.l.l.l.l.l.l.l.l _O_ZI.I.I.I.I.I.I.I.I
2 4 6 8 10 12 14 16 18 2 4 6 8 10 12 14 16 18 2 4 6 8 10 12 14 16 18
# of Detectors # of Detectors # of Detectors
Detector # 9 Resolution Fit Detector # 10 Resolution Fit Detector # 11 Resolution Fit
X2/ ndf 7.28414 —_ X2/ ndf 6.056 /4 —_ X2/ ndf 8.916/4
(9] [2]
0:0‘98262 [ns] £ 0 =0.298936 [ns] £ 0 =0.311699 [ns]
1.8k po 0.2983 + 0.0045 GE) po 0.2989 + 0.0046 g o po 0.3117 + 0.0050
'} x?*DOF =1.821020 i 0.8 x¥DOF = 1.514024 = X2/DOF = 2.229085
1.6 0.8
1.4F 0.6k ®
0.6F
1.2
1 0.4
04\\
o.8f L 2 s T
L 2
0.6} 0.2}
0.2
0.4
()
02F O o 2 0pg®0) ofpc®
05)0o
_O_ZI.I.\I.I.I.I.I.I.I _O_ZI.I.I.I.I.I.I.I.I _O_ZI.I.I.I.I.I.I.I.I
2 4 6 8 10 12 14 16 18 2 4 6 8 10 12 14 16 18 2 4 6 8 10 12 14 16 18

# of Detectors # of Detectors # of Detectors



Time [ns]

Detector # 12 Resolution Fit

0.05

o =0.000000 [ns]

X2/DOF = 0.000000

-0.05

-0.15

-0.2

2 4 6 8 10 12 14 16 18

# of Detectors

Detector # 15 Resolution Fit

0=0.2

55756 [ns]

X2 I ndf

po

17.12/4

0.2558 + 0.0030

Time [ns]

o
Ul

0.4

0.3\
@ L

5 XZIDO.: =4.279136

1

0.2
o1k
000,
(ll)o
oy
PRI

2 4 6 8 10 12 14 16 18

# of Detectors

Detector # 13 Resolution Fit

X2 / ndf 10.62/4

0.6

Time [ns]

0.4

0.3

0.2

0.1

-0.1=

0.5p

0 =0.260092 [ns]
po 0.2601+ 0.0035

XZ/DO" = 2.654062

2 4 6 8 10 12 14 16 18

# of Detectors

Detector # 16 Resolution Fit

Time [ns]

0.05p

o =0.000000 [ns]

X2/DOF = 0.000000

—-0.05p

-0.15

2 4 6 8 10 12 14 16 18

# of Detectors

Detector # 14 Resolution Fit

= X2 / ndf 284814
£ 0.7F 0=0.247206 [ns]
g po 0.2472 +0.0029
= X2/DAE = 7.120847
0.6
0.5p
0.4f
0.3F
[ ——
[ J
0.2
0.1 (:)
O
9
O-OO
_0_1-
0.2 | I P
2 4 6 8 10 12 14 16 18
# of Detectors
Detector # 17 Resolution Fit
& 0.1
% 0 = 0.000000 [ns]
E 2
= X“/DOF = 0.000000
0.05p
0
—-0.05}
-0.1-
-0.15p
oollalaba by bslylylyl

2 4 6 8 10 12 14 16 18

# of Detectors



Detector # 18 Resolution Fit

- 0.1
% 0 =0.000000 [ns]
E 2
= Xx“/DOF = 0.000000
0.05p
0
-0.05p
_0_1-
-0.15p
-0.2 | I I
2 4 6 8 10 12 14 16 18
# of Detectors
Detector # 21 Resolution Fit
= X2/ ndf 69.08 /10
£ 0 =0.255625 [ns]
g 0.4k PO 0.2556 + 0.0009
i | Xx*DOF =6.907962
@
0.3
o
0.2
0.1
o~ "000050
-0.1=
P o TP I P I P P P

2 4 6 8 10 12 14 16 18

# of Detectors

Time [ns]

0.05p

-0.05p

-0.15p

Detector # 19 Resolution Fit

o =0.000000 [ns]

X2/DOF = 0.000000

P WP P P I I P P

Time [ns]

0.3

(@]

0.4

2 4 6 8 10 12 14 16 18

# of Detectors

Detector # 22 Resolution Fit

0 =0.249574 [ns]
b po
X?/DOF = 8.001685

X2/ ndf 80.02/10

0.2496 + 0.0009

»
@

500°000000°

2 4 6 8 10 12 14 16 18

# of Detectors

= X2 / ndf 121.2/10
£ 0 =0.251343 [ns]
g po 0.2513 + 0.0009
= 0.4F X%DOF =12.122411
o
@
0.3F
0.2
0.3
O
of ©0000000°
-0.1-
oollala byl by lalslyl

Detector # 20 Resolution Fit

2 4 6 8 10 12 14 16 18

# of Detectors

Detector # 23 Resolution Fit

Time [ns]

0.05

o =0.000000 [ns]

X2/DOF = 0.000000

—0.05]

-0.1

-0.15

-0.2

2 4 6 8 10 12 14 16 18

# of Detectors



iy
£ 0=0.279964 [ns]
g po 0.28 % 0.00
£ 0.4} X*/DOF =1.920404
0.3
[ J
0.2
0.1
Q, O
-0.1=
P o TP I P I P I P

Detector # 24 Resolution Fit

X2 / ndf 19.2/10

2 4 6 8 10 12 14 16 18

# of Detectors

Detector # 27 Resolution Fit

Time [ns]

0.05

o =0.000000 [ns]

X2/DOF = 0.000000

-0.05

-0.1

-0.15

-0.2

2 4 6 8 10 12 14 16 18

# of Detectors

Detector # 25 Resolution Fit

X2 / ndf 13.28/10

0 =0.281677 [ns]
po 0.2817 + 0.0010

Time [ns]

0.4F ¥2/DOF = 1.327656

0.3

0.2

0.1

(@]

O

P\ I I P P I P P
L
2 4 6 8 10 12 14 16 18

# of Detectors

Detector # 28 Resolution Fit

X2/ ndf 26.03/10

o0 =0.290085 [ns]
po 0.2901: 0.0011

Time [ns]

X2/DOF = 2.602820

0.4

0.3

0.2

0.1

(@]

o
0C00P00

-0.1=

P I P P I P P
2 4 6 8 10 12 14 16 18

# of Detectors

Detector # 26 Resolution Fit

X2 / ndf 42.85/10

0 =0.274831 [ns]
po 0.2748 + 0.0009

Time [ns]

0.4 x%DOF = 4.285359

0.3

..
0.2
0.1

-0.1-

) I I P P
L
2 4 6 8 10 12 14 16 18

# of Detectors

Detector # 29 Resolution Fit

- X2/ ndf 23.21/10
£ 0 =0.281064 [ns]
g po 0.2811+ 0.0011
v— 2 —
= o4k X /DOF = 2.321099
0.3F
[ J
0.2
0.1
o
oF 00
0ooo®
D
-0.14
P o TP I P I P I P

2 4 6 8 10 12 14 16 18

# of Detectors



Time [ns]

0.3

0.2

(@]

-0.2

Time [ns]

0.4

Detector # 30 Resolution Fit

0 =0.273867 [ns]

= ¥2/DOF = 5.282273

X2/ ndf 52.82/10

po 0.2739 + 0.0010

@

(©.0)
'OQOOOOO ©

3

2 4 6 8 10 12 14 16 18

# of Detectors

Detector # 33 Resolution Fit

0 =0.283532 [ns]

X2/DOF = 1.327099

X2/ ndf 13.27/10

po 0.2835 +0.0011

0.2

0.1

9

(e ®e)

o OOOO

S.0¢)

_0_1-
P S P P P

2 4 6 8 10 12 14 16 18

# of Detectors

Detector # 31 Resolution Fit

- 0.1
% o = 0.000000 [ns]
£
= X2/DOF = 0.000000
0.05p
0
-0.05p
-0.14=
-0.15p
-0.2 | I I
2 4 6 8 10 12 14 16 18
# of Detectors
Detector # 34 Resolution Fit
—_ X2/ ndf 37.68/10
(9]
£ 0 =0.287814 [ns]
GE’ 04 po 0.2878 + 0.0011
i A Xx?/DOF = 3.768061

0.2

0.1

(@]

-0.1

2 4 6 8 10 12 14 16 18

# of Detectors

Time [ns]

0.4

Detector # 32 Resolution Fit

X2/ ndf

0 =0.283384 [ns]

X2/DOF = 2.299211

22.99/10

po 0.2834 + 0.0011

0.2k
0.1
olknyCO00
O Oooooo
_0_1-
) I I P P

2 4 6 8 10 12 14 16 18

# of Detectors

Detector # 35 Resolution Fit

Time [ns]

0.05

o =0.000000 [ns]

X2/DOF = 0.000000

—0.05]

-0.1

-0.15

-0.2

2 4 6 8 10 12 14 16 18

# of Detectors



Detector # 36 Resolution Fit

Time [ns]

0.05

o =0.000000 [ns]

X2/DOF = 0.000000

-0.05

-0.1

-0.15

-0.2

2 4 6 8 10 12 14 16 18

# of Detectors

Detector # 37 Resolution Fit

Time [ns]

0.05

o =0.000000 [ns]

X2/DOF = 0.000000

-0.05

-0.]

-0.15

2 4 6 8 10 12 14 16 18

# of Detectors




Resolution [ ns ]

Detector Resolution

O
w

O
N
&)

O
N

0.15

0.1

0.05

X* / ndf 2813/ 22
+
+ ++ pO 0.2721+ 0.0003
+ e . o
v E—
+
+ *

Average 0 =0.272121 [ns]

5 10 15 20 25 30 35
Detector



	Contents
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15
	Page 16
	Page 17
	Page 18
	Page 19
	Page 20
	Page 21
	Page 22
	Page 23
	Page 24


